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INSTRUCTION TO CANDIDATES : Q
1. SECTION-A is COMPULSORY consisti =N, questions carrying

TWO marks each. Q
2. SECTION-B contains FIVE questi arrying FIVE marks each and
students has to attempt any FOUR quastmqs &

3. SECTION-C contains THREE quest\lons carrylng TEM marks each and
students has to attempt any TWQ q;\ze:stmns i

. Write briefly

ive the stress and strain block parameters in limit state design
approach for concrete.

(d) Distinguish in the analysis philosophy of one way and two way=slabs.
(c) What are the different states considered in Limit State of Serviceability

(fy Flow is the tensile strength and modulus of elasticitly of concrete
linked to compressive strength?

(g) How can the shear strength of RC sections be enhanced?

{(h) How the transverse reinforcement is provided in short columns?
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(i) Under what circumstances are doubly reinforced sections provided?

(1) What are the two main components of staircases?

SECTION-B

Discuss the following :

(i) Stress-Strain Characteristics of steel reinforcement

(i) Acceleralors and retarders as admixtures

hd

A RC beam of 350mm by 500mm effective d gontains 4 bars of 25
mm diameter. Calculate the shear reinforcement needed for a factored
shear lorce of 400 kN, if M20 wmrc{% 'md Fe 250 stecl is to be u*;cd
as shear reinforcement. :

Design a rectangular beam to resj

& . ~ .
ending moment of 45 kNm using
M20 concrete and Fe4l5 sfuv b

Discuss in detail the pachﬂ pmimunb to control cracking of RC ¢lements.

What are the a fis for the design of reinforced conerete section
for limit stay pse in bending? Derive the stress block parameters
for a rectang [g{ Cross-section.

N F SECTION-C
. 5?3}'

L 5 = o
1 4 short column, square in cross section to carry an axial load of

000N using lateral ties. Use M25 concrete and Fedl15 steel.

Find the moment of resistance of a beam 250 mm = 600 mm deep if it is
reinforced with 2-12 mm diameter bars in compression zone and
4-20 mm dia bars in tension zone, cach at an effective cover of 40 mm.
Assume M20 mix and Fed 15 steel.

Desien a two way slab for the room 5.5 m x 6.5 m clear in size if the
superimposed load is 5 kN/m?, The edges of the slab are simply supported
and corners are not held down.
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